FNTE BRI

B KEMOWMELRFE

— X W y) R E A D B AR B IX I D RS
Jn AN /N XS

Aoy, Acy, Ao, H UL Aoy RR 85 i AN /DN AR, 78 B A /D X 8
Ao (i=12,---,n) PATEE— A (x,y), HdRREiANPXIKPTER, )2
A=Max{d,,d,,-,d,}» WERTCIX DRI AL (x, y,) BEEVEEREE, HEE

4 0, %nﬁz O y) Aoy IR RS AT AL, WIBRKIEAR R £ (x, ) 2
D L =EM 5, ‘LEWE_Uf(x,y)da:IimZn:f(x.,yi)-Aa.

oA (x, y) M AR i&, f(x,y)do A ARRIE S, xty IYASRA >
AR, DM X, Zf(x y)-Aoy WA A, do U i T B

JLE o
* TR AR R IR jj f(x,y)do = jj f(x, y)dxdy

EF' dxdy M5B A AR FR 2R HR AR TG 2
= ZEB R
fiiﬁ’i 1 %i&TUﬂkf(x y)do = k”f(x y)dxdy

PEBT 2 B Tbnﬁ[f(x Y)£g(x y)ldo = jjf(x y)da+jjg(x y)do
PR3 DRI [[ £ (x, y)do = ”f(x,y)da+ﬁf(x,y)do—
PERT 4 368 4 f(xy)<g(xy).(xy)eD, Jﬂlejzf(x y)da<”g(x y)do

PEpT 5. B EEE: W f(x,y)7ED L ﬂﬂ*, )F”JEDL@/'\Z?T
— UG e DR [[ f(x y)do = f (& )AL



= IR
1 X—HREA BT D={(xy)|p()<y<p,(x),a<x<b}

I (xy)do = LI toanay|ec @

RIS A= FEPAT Ty 0 T2 5 [ 50 11 1y
15 D LT AT AR LF I AE )
x=al / \
| y
O\ o
x=b T -e0
XY Y= (0

2 FRAY —BIXI:D={(x, V)| 4(Y)<x<g(y)c<y<d) N
[Jioopde =27 fxpix|ay @

i (
(BERX IS 504 AT T x Bl B 2 i X8 D 1 A IR 55 D Y
LG hZAAZ TG 1 AT )

X:%(Y)
0 —
X=(02(y)
y=a y=b
XV

3. EX
(TESE| [0 F )y [, 920 7 L A

o (

TETHH. IZZ((;) f(x,y)dx B, Oy & .

(2)#7 X3k D BE AN e X —B X ek, A S Y —BEDCH,  n) f P47 1
AR BRI ) T2 0 1 LA FR 73 DX, AR REAS 70 X el X —2 Xk
oy —H,  ARJE A 22 501 (2) T 5

4. WEZERI DR

(L) AR DX ek, TR e AR O XA SR A

()RR X sk D Ho X — I, M2 50(1), HFRIr XD K
Y —RKE, W AA(Q2), Bl X o BEe X —RIX s 30E Y —#Y
D3, DU EEAR e A B R AR ) s A (L) 38 A2 HT () 15



Bl 1.5k — E*W\”sm xsin?ydo, HHPD: 0<x<z, 0<y<r;

i J'Dfsin2 xsin® ydo :Lﬁsinz ydyj.:sin2 xdx:('[:sin2 xdxj2

z 1 ¢n 1 1. i .7t
sinxdx ==| (1-cos2x)dx = =| x—=sin2x | ==, .~ J3k="-
i | Zjo( =3[ x-3 } L k="

5] 2.5k — j(3x+2y)da, X3 D B ARARAS x+y = 2 BT IR

. FROXEiD: 0<x<2, 0<y<2-x

TR = J'Ozdxj‘027x(3x +2y)dy = J'Oz [3xy+ y2 [ ax = _[023x(2 —X) + (2 - x)?dx

— [y a2 oy — | ave 3_(2_)()3 ZZQ
IO[GX X" +(2-X) ]dx {3X X —3 l} 3

%) 3. )T{J'J.(x3+3x2y+y3)da, HePD: 0<x<1, 0<y<1;
D

& J'j(x3 +3x°y + y)do =_[Oldxj'ol(x3 +3x°y + y*)dy
D

4 1
—'[ xy+3xy A dx I( NN }dx Xile =z
2 4 2 4

0

#) 4. K J'J.(x ~y)do, HHD: 0<y<sinx, O<x<z.
D

sin x

f#: 'L'[(XZ -y*)do =j0”dxjjinx(x2 —y?)dy :J‘O”{Xzy _y?} dx

0

:IO”( 2gj sir;: ] —j x°d cos X + jlcﬂdcosx

3 T
[x cosx]g+j 2xcosxdx+{CO§X CO; X}
0

EF'I 2xc0s xdx = ijdsmx [2xsin x]; J' 2sin xdx =[2cosx}; = 4

CFRsk = 240
LR = 7 5



